Thermodynamics #3

You arrive at a carnival, except it's not a normal carnival. You have to use science to win any prizes. One game in particular asks you to ring the bell just like in a strong man game; however, instead of a hammer you are asked to heat the chemicals in the chamber to make them react and release a gas to raise the weight and ring the bell.  You are told that the weight is in a closed, vacuumed system and exerts a constant pressure of 760 torr. You are also told that the original volume under the weight is 0.5 L and the volume must reach 10 L to ring the bell.  The reaction that occurs in the system is as follows: 

CH4(g) + 2O2(g) ( CO2(g) + 2H2O(g)

How many moles of gas must be produced?
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